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© ) A9+6=150),B-21+-15=1.403)
(2) Im2H7Y) OEHBENIIHNTAT S,
© () AKE--600+5=120(M),
BE--920+8=115(M)
O AET-13040+40=326(A),
BET---11620+28=415(A)
© () 9x30=270(km)
(2) 135+9=15()
O () 0.8x240=192(kg)
(2) 70+0.8=87.5(m2)
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1] Im2db~Y DA 0.25 A,
| Ab7=Y) OEM4m?
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(3] (1) AW-1600 A, B#-1200 A
(2) AT
(4] #1900 A
5] (1) 42g (2) I5m
[6] (1) 12km (20 720km  (3) 35L
® [
2] 1mer)Ornt-ExsRknbY,
A 124+40=3.1 (kg),B--85+25=3.4(kg)
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[4] 7080000-3800=1863.

Ehb 3 FAmEEBRANLT, 1900 A.
[5] (1) 1.2%x3.5=4.2(g)

(2) 540+36=15(m)
(6] (2) 12%60=720(km)

(3) 420+12=35(L)
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[ B, A C

2] (1) 1.5dL  (2) 4dL

B] (1) @130, @326 (2) # 130 A
(4] # 190 FA

[5] (1) 4160M (2 20L (3) 5L

[1] 100g DAL,
A--420+ 140X 100=300(H)
B---473+220X 100=215(H)
C414+115X100=360(H)

2] (1) 3m2OHXTHE- ANy FOEIL,

16—11.5=4.5(dL)
(2) 8m2 THEIXVFDEIL 1.5X8=12(dL)

B] (1) @=Am)+(AOEE)=11830+9|

@=8150+25
(2) 11830+8150=19980(A)
|30+25=155(km2?)

[3] 1700%1121=1905700(A)

mIEANL T, 190 T Ao

5] (1) ImoharEilL, 1560+3=520(H)

520X8=4160(H)

(2) ILOEXIL, 7.2+9=0.8(kg)

16+0.8=20(L)

(3) ILTEBEN L,
BEEA--600+50=2(km)
BE##E B -540+60=9 (km)

180 km EBDIEG 7/ ) »DEIL,
BE)IE A 180+ 12=15(L)
BE)E B 180+-9=20(L)
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